CDRL A003
Commercial Drawings and 
Associated Lists for
Advanced Modular Manikin Project
Phase II Program
Contract # W81XWH-14-C-0101
[image: ]



Date: February 3, 2020
Revision: Rev - 2
Unclassified









PRINCIPAL INVESTIGATOR: ROBERT M. SWEET, MD, FACS
REGENTS OF THE UNIVERSITY OF MINNESOTA
OFFICE OF SPONSORED PROJECTS
200 OAK ST SE
MINNEAPOLIS MN 55455-2009


This document is unclassified, and APPROVED FOR PUBLIC RELEASE; DISTRIBUTION IS UNLIMITED




Revision History

	Date of Revision
	Description of Changes

	24 Dec 2018
	Original Draft Submitted

	25 Sep 2019
	Document Submitted

	03 Feb 2020
	Distribution Updated




Distribution Statement

This document was created under contract funding W81XWH-14-C-0101 from:

DEPARTMENT OF THE ARMY
US ARMY MEDICAL RESEARCH ACQUISITION ACTIVITY
820 CHANDLER STREET
FORT DETRICK MD 21701-5014

It contains no proprietary information, trade secrets, copy righted material or classified information. This document is unclassified, and APPROVED FOR PUBLIC RELEASE; DISTRIBUTION IS UNLIMITED



Table of Contents
1.	Scope	4
1.1.	Identification	4
1.2.	System Overview	5
1.3.	Document Overview	5
2.	Referenced Documents	6
2.1	Industry Documents	6
3.	Document Deliverables	6
3.1	Drawing Reference Document	6
3.2	Commercial Item Drawings	9


Figure 1: Functional Overview of AMM Platform	4


[bookmark: _Toc20319537]Scope
This document defines the standards for 1.0 release of the Advanced Modular Manikin (AMM) platform and its formal deliverables. The formal deliverables consist of the platform specification, an open source* Reference Implementation (RI) of the Computer Software Configuration Items (CSCIs), a reference implementation of the Universal Segment Connector (USC) and other hardware defined by the Hardware Configuration Items (HWCIs), the data models that ensure interoperability between the core and modules, and the documents that describe their design, operation, and extensibility through the addition of AMM Modules. Modules are defined as independent building blocks that provide incremental capabilities to the core or provide training opportunities for different medical and trauma related conditions. The focus of this specification is on the platform, a much broader definition than a physical manikin, as illustrated in Figure 1, and on how it can be extended by medical simulation developers by adding:

· Modules that provide incremental capabilities to the core, including authoring tools, after action review tools, different physiology engines.
· Modules that add training opportunities, including IV/IO arms, intubation heads, laparotomy abdomens, virtual stethoscopes. These can be physical, virtual, or hybrid part task trainers.

[image: https://lh3.googleusercontent.com/-bEPEz5LYmuBGY5zoJJ8CQYE1uYAN0OHNVKUTdPT_wq-xCrOQ0W0TH7qQYIfH9h9xvn56hCM_wf2ObfByt1ml5FDfoGJjeZ6-A5N-z3zN5JrVz8ZgzovwFNyNJSsYDrKJ1uO5o4]
[bookmark: _heading=h.1fob9te][bookmark: _Toc20300653]Figure 1: Functional Overview of AMM Platform
[bookmark: _Toc17699610][bookmark: _Toc20319538]Identification
This Advanced Modular Manikin (AMM) Commercial Drawings and Associated Lists CDRL Item A003 of Contract # W81XWH-14-C-0101, Phase II contains drawings and list of commercial products used in the platform.

This CDRL is formatted to the requirements of Data Item Description Number DI-Sess-81000E as required. This DID is applicable to acquisitions of military systems, equipment, and components. It is intended for acquiring drawings and associated lists for commercial products at the end of the System Development and Demonstration Phase and during subsequent phases of the DoD materiel life cycle.  

[bookmark: _Toc17699611][bookmark: _Toc20319539]System Overview 
The AMM platform is a modular, distributed, interoperable system that enables physical, virtual, augmented and hybrid modules to work together as an integrated system.  The traditional “core”, i.e. computer and state engine, can be in any one of the traditional manikin segments, i.e. torso, leg etc., or external to the human form, as it would be if the system is only running a virtual instance or if the targeted scenario, i.e. patient case, does not allow them to be internal due to the set of interventions that have to be performed on the body.  The platform is architected as a system of systems that allow modules to function either as part of an integrated, whole body simulation or as autonomous part task trainers.

The published AMM standards guide the development and integration of AMM compatible modules.  The reference designs provided for the final demo including electronics and central supplies were created to demonstrate the operation of the platform and are published as a developer’s tool kit with sources to acquire them from.

The developers of the platform have agreed to publish the AMM platform under the following open source licensing option:

* Creative Commons Attribution 4.0 International (CC BY 4.0) https://creativecommons.org/licenses/by/4.0/deed.ast.
Share — copy and redistribute the material in any medium or format
Adapt — remix, transform, and build upon the material for any purpose, even commercially.
The licensor cannot revoke these freedoms as long as you follow the license terms.

This document does not cover modules that were created under separate funding and by other entities to demonstrate the functionality of the AMM Platform under separate funding and are not part of the Open Source agreement. 

[bookmark: _Toc532971922][bookmark: _Toc20319540]Document Overview 
CDRL A003 is intended for acquiring drawings and associated lists for commercial products at the end of the System Development and Demonstration Phase and during subsequent phases of the DoD materiel life cycle. The outline and subject matter content are based on DI-SESS-81000E as required by the contract. The DID has been tailored as appropriate. The commercial drawings and associated lists are contractor format.

[bookmark: _GoBack]All drawings and lists included in this document are either required components of the core AMM system that for compliance purposes must be included in the system or components included as part of a reference implementation to demonstrate the functionality of AMM platform.  For instance, components of the fluidics system may not be required for modules being developed for the platform as long as the connectors are AMM compatible.  Contact the Technical Director <dhananel@uw.edu> for further information. 

The drawing reference document (Dwg. No. 100100) includes the system schematic design documents and an indented bill of materials for the mechanical assembly. Drawing reference items with 6-digit numerical part numbers are contractor assemblies and manufactured parts. All commercial items are referenced with drawing number indicating OEM in short form and OEM part number. Commercial items are further documented in this document. Contractor assemblies are documented in CDRL A004.

[bookmark: _Toc532971923][bookmark: _Toc20319541]Referenced Documents

2.1 [bookmark: _Toc532971924][bookmark: _Toc20319542]Industry Documents
	Doc. No.
	Title

	MLL-STD-31000
	Technical Data Package 

	W81XWH-14-C-0101
	AMM Phase II Contract, DOD

	DI-SESS-81000E
	Data Item Description

	
	




[bookmark: _Toc20319543]Document Deliverables

3.1 [bookmark: _Toc20319544]Drawing Reference Document
Starting on following page.
AMM Phase II CDRL A004 Product Drawings               	Release Rev-2	Page 4 of 31	
[image: ]
[image: ]
3.2 [bookmark: _Toc20319545]Commercial Item Drawings
Drawings are ordered alpha-numerically by drawing number, starting on following page.
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]


[image: ]
[image: ]


[image: ]


[image: ]

[image: ]

[image: ]
[image: ]
AMM Phase II CDRL A003 Product Drawings    	           Release Rev-	Page 24 of 31	

image1.jpeg




image2.png
'
CORE i MODULES
'
'
e Patient Profile & Data | | Ler o
Base Patient 1 Virtual Patient
Injuries '
Disease States | 1
! Dash Board
D [ o 2
! (PROPAQ) s
1| LabResuits H
CORE ' H
+ State Engine L :
* Module Manager ' H
+  DataLogging ! ]
| g
! 5
| 2
'
H BioGears
! Physiology
H Engine

Open standard data network, standard interfaces between modules (Software, Electrical, Mechanical)

manikin and virtual modules




image3.png
TTEM NO. PART NUMBER DESCRIPTION QY. [[TEM NO. PARTNUMBER DESCRIPTION Qry.

104059 AMMC.ORE. 622 102112 [AMM Development Kit Assembly 1

] 102070 [AMM CORE Confrol System 6221 102110 [AMM Development Kit, Motherboard 1

5 102071 AVl CORE Fluidics 6222 Maxon_438725 Motor Conroller, Maxon ESCON Module 50/5 1

6223 102113 [AMM Development Kit, Application Board 1

° 102072 [AMM CORE Wring Harness 623 Kenable_PSGO3818 RJ-45 Panel Mount Adapter 2

4 102073 AMM CORE Hose Routing N 105037 Vaive Asombly ;

5 Gator_GPRO-6U-13 Rack Case éU, 13" deep U [s241 Clippard_dv-3m-12-V DV 3/2 solenoid valve, 12 VDC 1

6 104057 Electronics Enclosure ! lg242 Clippard_15490-5 Single-station Manifold, 1/8" NPT 1

z:; ;Zﬁﬁcomrkzl TS ::CC::';;CTSOB:X frame : 6243 Clippard_15481-2 EV/ET 2-Valve, Manifold, #10-32 1

6244 SMC_KQ2507-34AS [Adapter, 1/8' NPT, 1/4'0D 4

63 CPC Ns2D1204 Fuid Connector 1/4' Panel Mount il e Kanor o omrer R ¥109. 1/ 0 >

2:2 ?&E;ﬁ:;ﬁ?ﬁgﬁ Ei:ncej:re :'T;AI gD z 6246 McMaster_92949A263 ___|Bution Head Screw #10-32 x 3/8" 3

: 6247 105032 Valve Brackef 1

Z:: :;ﬁ’g;ggg:g; ij:;ve (:‘lv :..'Li: :'I;:.. :: : 6248 Clippard_EV-2M-12-H EVP Proportional Control Valve 2

6.8 McMaster_95783A055 Threaded Hex Standoff, M3 x 0.5 mm 7 i’iz xzx:::x?ég:fm Bc:sbc‘z I‘/\e;jg‘;'::lm j

Z:TO T:;z\;soer)zwzm 1 ::z;::;lijiz;’ew ? 627 McMaster_98952A106 [Threaded Hex Standoff, M3 x 0.5mm 4

o oioer i 28 McMaster_98952A400 [Threaded Hex Standoff, M3 x 0.5mm 4

629 McMaster_91292A109 SHCS M3x 4 mm 1

612 Schaffner_FN9222-6-07 Power Enfry Connector v VRSt ST ye R S

6.13 E-Swilch_RB141D1121 Rocker Switch SPST, Panel Mount Py chasTor 91299A112 ATy — 5

614 NOCIUG_NF-A6x25_FLX Cooling Fan 60x60x25mm, 12V e chastor 91299A115 SHCS M 16 mm "

6.15 APEM_QBF3BXXG1 2E LED Panel Mount Indicator " iess MoMostor 92125A130 FlofHead SCS M3 X 10 mm 2

6.16 Meanwel_HEP240-48A  |AC/DC CONVERTER 48V 240W 1 ieaa MoMostor S0965AT130 Washor MG )

617 105035 Alr Compressor Assembly 1 lfe3s McMaster_93625A100 Nylon-nsert Locknut M3 s

6.17.1 ‘Airsquared_PO7HOI5A-A04 |Air Compressor, 12 lpm " sse NcNiGsTer_IZ4IAT10 Sution Head Sarew, #440X05 "
6172 105034 Motor Mount Clamp 2
6173 105033 Motor Mount Base 1
6174 | SMC_AKHO7A-NOTS Check Valve, 1/8NPT x 1/4' 1
6175 | McMasler 912924020 [SHCS M3 x 25mm 4
6.18 McMaster_98952A037 Threaded Hex Standoff 2
6.19 105019 Valve Mount, Parker RV 1
6.20 SMC_ZFC5D-B [AirFilter, Inine, 1/4" OD 1
6.21 102111 AMM Nefwork Manager 1

Title .
AMM C.O.R.E. Drawing
Reference
" Dwg No. Rev Sheet
< University of Washington THIS WORK 19, LICENSED 100100 Al 1/2
? CREST SR e st °[Prawn_by: RL [Date: 12/9/2019 [Size A
- nesn File: 100100_AMM_CORE





image4.png
ITEM NO. PART NUMBER DESCRIPTION QTY.

7 104058 Fluids Enclosure 1

7.1 Penn Elcom-R1293-10_lid Rack Drawer 3U, Lid 1

7.2 CPC NS2D1204 Fluid Connector, 1/4", Panel Mount 4

7.3 CPC NS2D200412 Fluid Connector, 1/- 4

7.4 SMC_KQ2T07-00A Connector, T, 1/4" OD 4

7.5 SMC_AKH07-00 Check Valve, Inline, 1/4" OD 2

7.6 CPC_PLCD29004 Connector, PLC with Shutoff, 1/4' OD 2

7.7 McMaster_94669A009 Unthreaded Spacer 4

7.8 McMaster_92095A201 Button Head SCS 4

79 McMaster_93625A100 Nylon-Insert Locknut M3 8

7.10 McMaster_92095A181 Button Head SCS 4

7.11 McMaster_92949A110 Button Head Screw, #4-40 x 0.5" 2

7.12 Kenable_PSG03818 RJ-45 Panel Mount Adapter 1

7.13 104060 Segment Connector Housing 1

7.14 104061 Segment Connector Cap 1

7.15 104063 Fluid Reservoir 2

7.15.1 Ethox_Infusurg_1000ml Pressure Infusior 1

7.15.2 Geigerrig_85404 Reservoir 1.51 1

7.16 104068 Fluids Drawer 1

7.16.1 Penn Elcom-R1293-10_fray |Rack Drawer 3U, Tray 1

7.17 102101_segment_connector AMM Segment Connector 1

7.17.1 102100 Connector Housing 1

7.17.2 102103 Latch Pin 1

7.17.3 102105 Release Button 1

7.17.4 McMaster_92905A056 Set Screw, M3x8mm 1

7.17.5 Schrader_8081100047 Valve Core M8 4

7.17.6 McMaster_9452K21 O-Ring 2

7177 Legris_3100_56_00_99 Push-to-Connect Press-in-Cartridge, 1/4" OD 4

7.17.8 TEConnectivity_0292178-1 |Mini Drawer Connector for CT 22P 1

7.17.9 McMaster_91292A024 SHCS M3 x 40mm 4

7.17.10 McMaster_94510A240 M3 threaded insert for plastic 4

7.17.11 McMaster_91292A113 SHCS M3 x 10mm 2

7.17.12 McMaster_90130A007 Rubber Washer, M3 2

7.17.13 McMaster_93475A210 M3 steel washer 2

8 McMaster_94779A780 [Truss Head Philips Machine Screw 8 Title .

AMM C.O.R.E. Drawing
Reference
AT Dwg No. Rev Sheet
*/i“\g University of Washington THIS WORK 19, LICENSED 100100 Al 2/2
N CREST SR e st °[Prawn_by: RL [Date: 12/9/2019 [Size A

File:

100100_AMM_CORE





image5.png
Air Compressor — 12 Lpm

] Rev Sheet
Airsquared_PO7HO15A—A04 1/1

Drawn by: DT
Mfg: Airsquared

Date:

5/18/2079

P /N:

PO7HO15A—A04




image6.png
LED Power Indicator

Dwg No. Rev Sheet
APEM_Q8F3BXXG12 1/1
e: 9/

Drawn by: DT Date: 8/2019

fg: APEM P/N: Q8F3BXXG12E





image7.png
Dwg No.
Clippard_15481-2

Drawn by: DT
fg: Clippard

: 15481-2




image8.png
Title

Single—Station Manifold 1/8” NPT

Dwg No. Rev Sheet

Drawn by: DT Date: 9/18/2019

fg: Clippard P/N: 15490-5





image9.png
Title

DV 3/2 Solenoid Valve — 12V

Dwg No. Rev Sheet
Clippard_dv—3m—12—V 1/1

Drawn by: DT Date: 9/18/2019 |[Size A
fg: Clippard P/N: dv—=3m—12-V





image10.png
Title

EV 2/2 Solenoid Valve — 12V

Dwg No. Rev Sheet
Clippard EV—2M—12—H 1/1

Drawn by: DT Date: 9/19/2019 |Size

fg: Clippard P/N: EV—2M—12—H





image11.png
[44.12]
1.74

1/4" PTF WITH NUT

Manufacturer: CPC
Model Number: NS2D1204

Material: Polyproprlene

Material Finish: Molded Grey

Pressure Range: Vacuum To 45 psi, 3.1bar
Color: Gray with dark gray overmold
Mounting Option: Panel Mount

Temperature Range: 32°F - 120°F (0°C - 49°C)
Seal Options: OTHER

Valve Spring: 316 Stainless Steel

Valve Option: Valved

Title
Fluid Connector, 1/4”, Panel Mount

University of Washington oMo THIS WORK 1S LICENSED

CREST

COMMONS ATTRIBUTION 4.0|
(13 INTERNATIONAL LICENSE

Rev Sheet

wg No.
CPC_NS2D1204 A 1/1

Drawn by: RL [Date: 12/10/2019 [Size A

File: CPC NS2D1204





image12.png
NS2D200412

QcPc

e

NS2D200412

PRODUCT SERIES SPECIFICATIONS

Series: NS212
Category: General Purpose
Pressure: Vacuum to 45 psi, 3.1 bar
Temperature: 32°F-120°F (0°C-49°C)
Spillage & Air Inclusion:
<0.025¢c per disconnect

0.009cc per connect
Material Compliance
Reach: Compliant

For more information see cpoworldwide.com or
contact us at cpeworldwide.com/ContactUs

Iteractive 3D graphi. cick o actvato and rtate.

NS212 Series couplings were built on the company's proven platform of non-spill valves designed to provide fast, safe.
and leak-free flid line connections. The NS212 is an easy, twist-to-connect coupling with an integrated locking
mechanism and double-sided non-spill shutoff valves. It is also chemically resistant and ideal for a diverse range of
applications including prining and ink management, analytical instrumentation, electronic cooling and chemical
handiing. NS212 couplings provide high-Tow fluid transfer in a small footprint.

Features - Benefits.

Efficient, non-spill design - Disconnect under pressure with no spills
Mulliple seal materials - Broad chermical compatiilty for diverse applications
Twist-to-connect locking - Easy, non-spill connections in tight spaces

Compact design - High flow in a small connector

Ultra low air inclusion - Minimizes contaminants, reduces the need to purge lines

S22 presure ange NS212 Wster Flow

Thess graphs ars inendad o g you a ganeral dea of the performanc capabiities of sach productine. Contact GPG for flow of a particul

Technical details:

i
WHHH"
I
4" PIF
PTF NUT SUPPLIED UNASSEMBLED

Description: 1/4 PTF Valved In-Line Coupling Insert

Materi:

Main Components: Glass filed Gray Polypropylene
Valve: Glass filed Gray Polypropylene

Valve Spring: Stainless Steel

Seals: EPDM(FKM,FFKM optional)

Standard Packaging Quantity: 25

‘COLDER PRODUCTS COMPANY + 1001 Wastgta Drva  St. Paul, Minnasota 55114 - PHONE +1 651-645-0091 « FAX +1 651.645-5404

PDF Datashel Pawered by CADENAS PARTsokions.

POF Datashoo Powsrad by CADENAS PARTsaions. cpeworidwide.com




image13.png
A [50.571 mm] Manufacturer: CPC
®

-9%) 1.99in Model Number: PLCD29004
"P//%Oy Material: Acetal
R Material Finish: Natural
== Pressure Range: Vacuum to 120 psi, 8.3 bar
1 il Color: White
—Ul J_ == [ Mounting Option: Free Floating
H>
Temperature Range: -40°F - 180°F (-40°C - 82°C)
Seal Options: BUNA-N
Valve Spring: 316 Stainless Steel
1/4" Push-to-Connect Valve Option: Valved

Title
Fluid Connector, PLC, 1/4” OD
. . . . Dwg No. Rev Sheet
* University of Washington SO mis wor s weenseo | CPC_PLCD29004 A 1/
: CREST P o st ‘[Drawn_by: RL [Date: 12/10/2019 [Size A
s File: CPC_PLCD29004





image14.png
Dwg No.

Rocker Switch SPST

E—Switch_RB141

Drawn by: DT
fg:

E—Switch

D1121

Rev

R

Sheet

A

B141D1121

1/1





image15.png
Dra

fg:

Pressure Infusion Sleeve

Ethox_Infusurg_1000m

wn by: DT
Ethox

Sheet ,]/,]

Date: 9/19/2019

P/N: Infu—Surg 1000ml





image16.png
Title

Rack Case 6U — 137 Depth

Dwg No. Rev Sheet
Gator_G—PRO—6U—13 A 1/1

Drawn by: DT te:  9/18/2019 |[Size A
fg: Gator : G=PRO-6U—-13





image17.png
1.5L Fluid Reservoir

Dwg No. Rev Sheet
Geigerrig_85404 1/1

Drawn by: DT Date: 9/19/2019 |Size
fg: Geigerrig P/N: 85404





image18.png
Kenable__

Drawn by: DT
fg: Kenable : PSG03818





image19.png
Manufacturer: Legris
Model Number: 3100 56 00 99

0.48 N Max. Working Pressure: 290 psig
Working Temperature: -4 to 176 degF

Material body: Nickel plated Brass

O-rings: NBR

Gripping Ring: stainless steel

7
—
©$0.41

Title
Press—in Cartridge, 1/4” 0D
Dwg No. Rev Sheet
© University of Washington [©Mom s ok s weevseo | | eqris_3100_56_00_99 | A 1/
CREST a0 o Drawn by: RU [Date: 12/10/2019 [Size A
File: Legris_3100_56_00_99





image20.png
Maxon ESCON Module 50/5

Dwg No. Rev Sheet

Drawn by: DT Date: 9/18/2019
fg: Maxon P/N: 438725





image21.png
3/4"

i

3/4" 0.16"
For No. 6
Screw Size
—={ 0.20" =
1/4"

McMASTER-CARR.

wouser  1566K73

hitp/Awww.mcmaster.com
©2018 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Cable Tie
Mount





image22.png
1/2"
(0.504" Actual)

[ —

~_

3/8"
(0.364" Actual)

L 116"
(0.07" Actual)

McMASTER-CARR.*>

wouser  9452K21

hitp/Awww.mcmaster.com
©2015 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Multipurpose
0O-Ring





image23.png
0.25"

=—0.12" —=—

For #6
Screw Size

—— e

Washer may vary from
0.047" to 0.077" in thickness.

McMASTER-CARR.>

wsen 90130A007

hitp/Awww.mcmaster.com
©2014 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Rubber
Sealing Washer





image24.png
For M3
Screw Size

3.2mm

o8

-
Washer may vary from
0.4 mm to 0.6 mm in thickness.

McMASTER-CARR.“® | (i 90965A130

hitp/Awww.mcmaster.com Metric General Purpose
©2014 McMaster-Carr Supply Company Wash
asher

Information in this drawing is provided for reference only.





image25.png
5.7 mm

2mm
Hex

e

1.65 mm

|

35 mm {
Thread length may vary from ‘
16 mm to fully threaded in length.
NI Dy
I
14 i 3 mm

I

M3 x 0.5 mm Thread

McMASTER-CARR.? | G5 91239A128

hitp/Awww.mcmaster.com Alloy Steel Button-Head
©2014 McMaster-Carr Supply Company
Inform Socket Cap Screw

rformation in this drawing is provided for reference only.





image26.png
N
\\\\\\\\\\\\\\\\W

McMASTER-CARR.%P | it 91292A020
02014 easir Gt upoly Company Stainless Steel





image27.png
D
<)

40 mm

\\\\\\\\\\\\\\\\\\\\\\\\

Th dI gh

\\\m\\\m\m\\\\m\\\\\\n\\\ E

McMAS‘I’ER CARR 4P Wit 91292A024
Stainless Steel

rrrrrrrrrrrrrrrrrrrrrrrrrrrr





image28.png
5.5 mm
2.5mm

M3 x 0.5 mm Thread

@\\\\

McMASTER-CARR.>

91292A109

hitp/Awww.mcmaster.com
©2014 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Stainless Steel
Socket Head Cap Screw





image29.png
5.5 mm

2.5 mm
Hex

~—‘3mm ’—76mm

T
3m

M3 x 0.5 mm Thread

@\\\\\\\\\

m

McMASTER-CARR.>

wouser 91292A111

hitp/Awww.mcmaster.com
©2014 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Stainless Steel
Socket Head Cap Screw





image30.png
0

P~

2.5 mm M3 x 0.5 mm Thread
Hex

McMASTER-CARR.“® | it 91292A112

http:/Awww.mcmaster.com Stainless Steel

©2014 McMaster-Carr Supply Company
Tormalion s drawing s prodded o Telerencs oy Socket Head Cap Screw





image31.png
5.5 mm

M3 x 0.5 mm Thread

=

McMASTER-CARR.>

PART
NUMBER

91292A113

hitp/Awww.mcmaster.com
©2014 McMaster-Carr Supply Company
irformaton in this drawig s provided for referen

Stainless Steel

Socket Head Cap Screw





image32.png
@w\\\\\\\w

McMASTER-CARR.“® | i 91292A115
02014 easir Gt upoly Company Stainless Steel





image33.png
g

Lk

rrrrrrrrrrrrrrrrrrrrrrrrrrrrrr





image34.png
55

35 mm

/|

rrrrrrrrrrrrrrrrrrrrrrrrrrrrrr





image35.png
2mm
Hex

/

M3 x 0.5 mm Thread

McMASTER-CARR.*>

wouser. 92125A130

hitp/Awww.mcmaster.com
©2014 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Stainless Steel Flat-Head
Socket Cap Screw





image36.png
5.6 mm

#1 Drive

.‘ 24 mm

M3 x 0.5 mm Thread

McMASTER-CARR.*>

PART
NUMBER

92492A116

hitp/Awww.mcmaster.com
©2012 McMaster-Carr Supply Company
awing I provide

Information in this drawing is provided for reference only.

Nylon Pan Phillips
Machine Screw





image37.png
3mm

1.5 mm
Hex

8 mm

—1.75 mm =—

2mm

M3 x 0.5 mm Thread

McMASTER-CARR.*>

wvsee 92905A056

hitp/Awww.mcmaster.com
©2013 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Metric Extended Point
Set Screw





image38.png
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\1 +

Mc MAS‘I’ER CARR “ NEQEER 92949A110
8-8 Stainless Steel

rrrrrrrrrrrrrrrrrrrrrrrrrrrrr





image39.png
10-32 Thread

McMASTER-CARR.“? |5 92949A263

hitp:/www.mcmaster.com 18-8 Stainless Steel
©2019 McMaster-Carr Supply Compan N
Inform . ! Button Head Hex Drive Screw

rformation in this drawing is provided for reference only.





image40.png
7 mm

3.2mm

For M3

Screw Size

Washer may vary from
0.4 mm to 0.6 mm in thickness.

McMASTER-CARR.*>

wouser 93475A210

hitp/Awww.mcmaster.com
©2014 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Metric General Purpose
Washer





image41.png
5.5 mm

M3 x 0.5 mm Thread

4 mm

McMASTER-CARR.%>

s 93625A100

hitp/Awww.mcmaster.com
©2015 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Metric Nylon-Insert
Locknut





image42.png
0.51 mm —

M3 x 0.5 mm Thread

5.5 mm

4.29

mm

4.8 mm

L—4A2 mm 4—1

McMASTER-CARR. -

wouse 94510A240

hitp/Awww.mcmaster.com
©2018 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Brass Flanged Screw-to-Expand
Insert for Plastic





image43.png
6 mm £0.13

+0.3
3.2mm 00

For M3 Screw Size

= 6mMm#0.13 ——|

McMASTER-CARR. 42

wvsee 94669A009

hitp/Awww.mcmaster.com
© 2015 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Metric
Unthreaded Spacer





image44.png
0.448" 0.128" i 3/4"

i

#10-32 Thread

)
\
| 0.190"
{

#2 Drive

McMASTER-CARR.“?- 5 94779A780

hitp://www.mcmaster.com
© 2012 McMaster-Carr Supply Company
rformaton in s drawig s provided for rference oy

Large-Diameter Truss Head Phillips
Machine Screw





image45.png
4.5 mm+0.26

M3 x 0.5 mm
Thread

f=—— 8 mMm+0.26 —==— 4.7 mm T
N AN T
3 \‘\‘\\‘\“H‘U‘\“w
| \‘\‘H‘\M‘H‘\‘H\“‘\ 3mm
| BTN
s WWANAN _1
|
4.8 Min. L
ThrearzTenlg;]th M3 x 0.5 mm

McMASTER-CARR. 4% \iist- 95783A055

hitp/Awww.mcmaster.com
© 2017 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Male-Female Threaded
Hex Standoff





image46.png
/N

6 mm +0.13

N T

M3 x 0.5 mm Thread

6.4 mm
Min. Thread Length

M3 x 0.5 mm Thread

fe— 14 mm +0.13 4.7 mm ]

McMASTER-CARR.>

wvsee 98952A037

hitp/Awww.mcmaster.com
© 2016 McMaster-Carr Supply Company

Information in this drawing is provided for reference only.

Male-Female
Threaded Hex Standoff





image47.png
4.5 mm+0.13

M3 x 0.5 mm
Thread

fe—— 8 mMm+0.13 ——==—4.7 mmj
INIVINDY I
1

4.8 mm Min. L

Thread Length

McMASTER-CARR.4? | \5ist. 98952A106

hitp:/www.mcmaster.com Male-Female Threaded
©2017 McMaster-Carr Supply Company Hox Standof
ex Standol

Information in this drawing is provided for reference only.





image48.png
4.5 mm+0.13

M3 x 0.5 mm
Thread

i— 35 mm0.13

—— 6.4 mm Min.
Thread Length

} 5mm {

Lo

b

[

[

Lo N
? Lo
N
Y & 4 3mm
1 .
! P

Lo 1

[

o

Lo

M3 x 0.5 mm
Thread

McMASTER-CARR.4P | [i5E. 98952A400

hitp/Awww.mcmaster.com

© 2017 McMaster-Carr Supply Company

Male-Female

Information in this drawing is provided for reference only.

Threaded Hex Standoff





image49.png
Title

AC/DC Converter 48V 240W

Dwg No. Rev Sheet
Meanwell _HEP—240—48A A 1/1

Drawn by: DT te:  9/18/2019 |[Size A
fg: Meanwell P/N: HEP—240—48A





image50.png
Cooling Fan — 60x60x25

] Rev Sheet
Noctua_NF—A6x25_FLX 1/1

Drawn by: DT Date: 9/18/2019 |[Size A
fg: Noctua P/N: ABx25_FLX





image51.png
Relief Valve — 15psi

Dwg No. Rev Sheet
Parker_RVOTATNO15 1/1

Drawn by: DT Date: 9/19/2019 |[Size

fg: Parker P/N: RVO1ATNO15





image52.png
Rack Drawer AU — Lid

Penn Jconw R1293—10_

rawn by: DT

fg: Penn

Elcom

?ev Sheet

?1293—10





image53.png
Penn

Drawn by: DT
fg: Penn Elcom

: R1293-10





image54.png
] Sheet
PennElcom—R2110-3U_top 1/1

Drawn by: DT
fg: Penn Elcom : R2110-3U





image55.png
Title
Power Entry Connector

Dwg No. Rev Sheet
Sehaffner_FN9222-6-07 A 1/1
Drawn by: DT [Date: 12/10/2019 [size A

Mfg: Schaffner P/N: FN9222—6—07





image56.png
M8

[6.40mm]
- ©0.25in

[2.67mm]
0.11in

€
cc
w0
~N @
— o
&

Manufacturer: Schrader International
Model Number: 8081100047

Opening Pressure: N/A

Max. Working Pressure: 800 psig
Temperature Range: -40 fo 245 degF
Installation Torque: 10 - 20 in.lbs
Dynamic Sealing Surface: Neoprene

Surface Finish: Unplated

Title

Valve Core, 8mm

* University of Washington

CREST

Dwg No.

Rev

Schrader_8081100047 A

Sheet

1/1

THIS WORK IS LICENSED
m UNDER A CREATIVE
- CONONS ATIRIBUTON 405 Gwn by: RL

INTERNATIONAL LICENSE

[Date: 12/10/2019 [Size A

File: Schrader_m8_valve





image57.png
smcetech.com

SMC Corporation of America

Series: AKH Part Number: AKH0O7-00 A3

o o . L This drawing is for reference purposes only. It is intended to facilitate the use
Electronic File Scale is 1:1 (mm) Model Name: AKH3155 Description1: CHECK VALVE WITH or application of the product it represents. Although al efforts were made to
Views are in Third Angle Projection Created by: HOPKINS Description2: ONE TOUCH FITTING insure accuracy when created, it may not represent the curent product.
Print A3 size paper scaled to fit Date: Thursday, March 7, 2002 11:37:09 AM Referencel: BEST PNEUMATICS 2004 j‘ef”gjjgj‘”wf’;,u'f;u'S‘gjﬁ;mggf’hgj;”'jgjg”‘j;f‘j:jj:@z;{,;;g;mjm
Printed output is in free scale USA Checked: : Reference2: . e y : P

contact your local SMC representative.





image58.png
smcetech.com

SMC Corporation of America

Series: AKH Part Number: AKHO7A-NO1S

Electronic File Scale is 1:1 (mm) Model Name: AKH3155A Descriptionl: Check Valve with One-Touch Fittin:
Views are in Third Angle Projection Created by: D. HOPKINS Description2:

Print A3 size paper scaled to fit Date: Thursday, March 7, 2002 3:55:43 PM Referencel: BEST PNEUMATICS 2004

Printed output isin free scale USA Checked: J. DENNY : 9/23/05 Reference2:

A3

This drawing i for reference purposes only. I s inended fo faciitate the use
or appication of the product it represents. Although al efforts were made fo
insure accuracy when created, it may not represent the curent product.
Application or use of information contained in this document s the sole
responsibilty of the user. If you have questions or require cestfication, please.
contact your local SMC representative.





image59.png
SMC Corporation of America Series: KQ2

Model Name: KQ2 Description:
Created: B.WATSON : 7/31/2017 KQ2, One-touch Fitting for Inch Size Tube, UNF, NPT Thread

Revised: B.WATSON : 4/16/19
USA Checked: : Referencel: CAT.ES50-37D

Part Number: KQ2L07-32A

This drawing is for reference purposes only. It s intended to facilitate the use or application of the product it
represents. Although all efforts were made to insure accuracy when created, it may not represent the
current product. Application or use of information contained in this document is the sole responsibility of the
user. If you have questions or require certification, please contact your local SMC representative.

Electronic File Scale 1:1 (mm)

Views are Third Angle Projection
Print A3 size paper scaled fo fit

Prinfed output is in free scale

www.smcusa.com




image60.png
SMC Corporation of America Series: KQ2 Part Number: KQ2S07-34AS

Model Name: KQ2 Description:

. . _ i) i This drawing is for reference purposes only. It isintended to facilitate the use or application of the product it | Electronic File Scale 1:1 (mm)
Created: B.WATSON : 7/31/2017 KQ2, One-touch Fitting for Inch Size Tube, UNF, NPT Thread e e rors mas 10 e aecurao whon crooted. T oy ol eEresbt 1 Views ore Third Angle Projection
Revised: B.WATSON : 4/16/19 current product. Application or use of information contained in this document is the sole responsibility of the  Print A3 size paper scaled to fit

user. If you have questions or require certification, please contact your local SMC representative. Printed output is in free scale

USA Checked: : Referencel: CAT.ES50-37D

www.smcusa.com





image61.png
smcetech.com

Q

SMC Corporation of America

Series: KQ2

Electronic File Scaleis 1:1 (mm)
Views are in Third Angle Projection
Print A3 size paper scaled to fit
Printed output is in free scale

Part Number: KQ2T07-00A

Model Name: KQ2 Description:

Created: B.WATSON : 7/31/2017 KQ2, One—Touch Fitting for Inch Size Tube, No
Revised: B.WATSON : 10/2/18 Connection Thread

USA Checked: : Reference: CAT.ES50-37D

A3

This drawing s for reference purposes only. It isintended fo faciltate the use
or application of the product it represents. Although all efforts were made to
insure accuracy when created, it may not represent the current product.
Application or use of information contained in this document is the sole
responsibillty of the user. If you have questions or require certification, please
contact your local SMC representative.





image62.png
smcetech.com

)

[

SMC Corporation of America

Series: KQB2 Part Number: KQB2F07-N0O2

Electronic File Scaleis 1:1 (mm) Model Name: KQB285098
Views are in Third Angle Projection Created: C.DICUS : 1/31/12
Print A3 size paper scaled to fit Revised: B.WATSON : 1/31/18
Printed output is in free scale USA Checked: :

Descripfion:
KQB2, Metal One-touch Fittings, Inch Size (UNF,
NPT Threads)

Reference: KQB2.PDF

A3

This drawing s for reference purposes only. Itisintended fo faciltate the use
or application of the product it represents. Although all efforts were made to
insure accuracy when created, it may not represent the current product.
Application or use of information contained in this document is the sole
responsibillty of the user. If you have questions or require certification, please
contact your local SMC representative.





image63.png
smcetech.com

I
[

SMC Corporation of America

Series: ZFC7033A Part Number: ZFC5D-B A3

o . o This drawing i for reference purposes only. Itis infended to facilitate the use
Electronic File Scale is 1:1 (mm) Model Name: ZFC7033A Description1: or application of the product it represents. Although all efforts were made fo
Views are in Third Angle Projection Created by: Description2: insure accuracy when created, it may not represent the current product.

: . - . .En- . Application or use of information contained in this document is the sole
Print A3 size paper scaled to fit Date: Wednesday, September 18, 2013 12:50:49Raference : responsibilty of fhe user. If you have quesfions or requite cerificafion, please
Printed output is in free scale USA Checked: : Reference?2:

contact your local SMC representative.





image64.png
Title

Mini Drawer Connector for CI 22P

Dwg No. Rev Sheet
TEConnectivity_0292178—1 A 1/1

Drawn by: DT Do 9/18/2019 [Size

fg: TEConnectivity 0292178—1





